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Time allowed for the test: 50 minutes
PlEEPER D50 4 48

Instructions:

1. This test contains two sections:
Section A: Questions 1-30
Section B: Questions 31-36
2. Answer ALL questions.
3. Write your answers on the answer sheet.
4. Write your name, class and class number on the answer sheet.
5. You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.
6. You can use a pencil or a black/blue ball pen to answer the
questions.

7. The use of calculator is not allowed.
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Note:
Not all diagrams are drawn to scale.

SECTION A (60 marks)

Choose the correct answer. You only need to
write down the letter preceding the selected
answer.

1. After rounding off 3 299 989 to one
of the following places, the
approximate value may never be
3 300 000. What is that place?

A. ten thousands
B. thousands

C. hundreds

D. tens

1. 33299989~ t T H Y

- @i 2 ¥ & 1% 413300000 -

P A9

A F i
B. + =
C.7 i~

D. + i

2. There are four dozen fluorescent light
sticks in one box. Each fluorescent
light stick costs $13. If Ms Chu
wants to buy 15 boxes of fluorescent
light sticks, how much should she
pay?

A. $9360
B. $2340
C. $780
D. $624

2o A EBI e FREY LS
£$13 ¢ bo% %l 42 & § 154 %
Lth o RS0

A. $9360
B. $2340
C. $780
D. $624




3. It took 24 minutes to print 360
documents. How many minutes
would it take to print 540 documents
at the same speed?

A. 28 minutes
B. 34 minutes
C. 36 minutes
D. 38 minutes

3. e 3605 > 2 T 240 & o de
% 00 4p e chid B B 15400 2

A. 28% 45
B.34% %
C. 364
D. 38 ~ 4

& & &

|1x1d

I

4. One of the following numbers has a
different number of factors than the
other three numbers. What is the
result of adding up all the factors of
that number?

14 25

A. 24
B.31
C. 40
D. 54

4, T w Bacd > B - BT
BB el 4 = B P o 3
ST FlEAp b SR LS 0 ?

27 34

A. 24
B.31
C. 40
D. 54

5. The number on the card is a common
factor of 60 and 90. It’s also a

common multiple of 6 and 15. Which

of the following may be the number
on the card?

A. 15

B. 30

C. 60

D. 90

5. #F + i 6019002 F]
#icr 2 E6fclbeh Bl o 1T
VR— 0 i B F i ?

A. 15
B. 30
C.60
D. 90




6. If each represents 1, 6. 4ok = B -3

what is the result of adding up all the 71 & B A5 IS B0 A (R & ehiE AR
numbers represented by the shaded et X E 509

parts of the following figures?

13 13

A. 12—0 A. 12—0

B IL B IL

20 - 20
19 19
C. 24 C. 24
D S D S5
11 11




7. If%—%=0,then4l:l—*=? 7. &r%%—%=0’ TR
A0—% = ?
A. 4 A. 4
B.3 B.3
C.1 C.1
D.0 D.0
8. There are 96 buttons in each pack, 8. % & fdrd 964 H ¥ 1—72{
% of the buttons are red. How Zd e dek G 14 ¢ 24
many red buttons are there in total if £F 2d e b bR ?
there are 14 packs?
A. 40 A. 40
B. 56 B. 56
C. 560 C. 560
D. 784 D. 784




9. Kay had 36 egg rolls originally. She
ate 9 egg rolls and gave 15 egg rolls
to her friends. What was the
fraction of the remaining number of
egg rolls to the original number of

egg rolls?

A.

w

a

o

9. R R F 36iEFAE > 419
RS X P10 R ELN
oo AAT Rl bR oD
Koz 89

or)
AW WIN ',G|\| Wl

a

10. There are 100L of soy milk. If
3
every gL of soy milk is pured into
a bottle, how many bottles of soy

milk can be poured at most?
A. 60
B. 155
C. 166
D. 167

g1jlw

10. 33 100L 247 o 4 & L e
Edmip - FL o B F VO
I A T

A. 60

B. 155
C. 166
D. 167




11. The hundreds digit and thousandths
digit of a number are ‘3’ and ‘5’
respectively. Which of the

following may be this number?
A. 566.63
B. 366.65
C. 366.665
D. 36.635

1. - B #chp fcfot & ifes
R F3J fe F5Jo T PRIE ¥

o A B

A. 566.63
B. 366.67
C. 366.665
D. 36.635

12. Amy reloaded her Octopus with
$200 and used it to pay $126.9 for
buying a handbag. After the
payment, the remaining value in her
Octopus was $94.8. What was the
value in Amy’s Octopus before it
was reloaded?

A. $21.7
B. $32.1
C. $105.2
D. $167.9

12. 7ok 5~ + 3 8200 0 I
U 4 AP126.9pF T - B £
%o [ Acis > AAEE €.994.8 - T
s+ A B2 g FE A

509

A. $21.7
B. $32.1
C. $105.2
D. $167.9




13. Macy wants to buy a perfume set 13. 8 % L300 & MY - 23

for each of her 3 friends. If there Ko B EEY FAEE R o ek
are 4 bottles of perfume in each set #FLH KB $75.6 0 4 X3
and the price of each bottle of b9

perfume is $75.6, how much
should she pay in total?

A. $907.2 A. $907.2
B. $708.4 B. $708.4
C. $680.4 C. $680.4
D. $302.4 D. $302.4
Parcel
5% P Q R S
Weight 3 21 s 9
£ 2 27kg g Kd 270ke 5Kg

14. According to the above table, which 14. ¥+ £ > iz e & ?

parcel is the heaviest?

A.P A.P
B.Q B.Q
C.R C.R
D.S D. S




15. There were 600 paper boxes
originally. 120 paper boxes were

used last week, % of the remaining
paper boxes were used this week.
What fraction of the original paper
boxes was the paper boxes used this
week?

O O w »
5|wm|~m|-l>w|t\)

15. 7 6001 A4 - + 2 4 * &
120 » 2 B R 8% 3 AT K
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16. Which of the following shapes can
be formed by using all the above

figures?
. triangle

I1. square
I11. parallelogram
A.land Il only
B. I and Il only
C. Il and I11 only
D. I, Il and 1l

16. * 1} J:'Li—"ﬁ BlA5 > v ud AT

it [ 7 7

. = &35
. &+ =23

. * 7w 3§27

A F 412
B. %4121l
C. 5% 1z
D.1~11 2 I

10



17. In the above figure, EM is a line 17. } B¢ > EME - ig 5475 Flo
segment passing through all the SR o Aok B R FlenE TR
centres of the circles. If the 8cm > EMenE B E_% ° 9

diameter of each circle is 8cm,
what is the length of EM?

A. 48cm A. 48cm
B. 40cm B. 40cm
C. 32cm C. 32cm
D. 28cm D. 28cm
g3
=2 B
=
18. The above is the net of a cube. When | 18. ' Bl E - B & > $8 38 X Bl o
it is folded into a box, the face with TR UTESEFE | 2|EEF D
TR o 3% 3 o %’KE"‘}"L‘\:}’K._
=1 1is at the top. Which of the /E ) . ; £ DA
following shapes is at the bottom of Bl
the box?
A [ A. | B3
B. [> B. [>
C. |= C B
D. == D. | =

B AT H 5 (] 9) 11



19. The above pentagonal pyramid is
formed by 10 sticks of the same
length and 6 plastic beads. This
pentagonal pyramid is restructured
to form three triangular pyramid.
How many extra sticks and plastic
beads are needed at least?

A. 4 sticks and 2 plastic beads
B. 8 sticks and 6 plastic beads
C. 17 sticks and 6 plastic beads
D. 8 sticks and 12 plastic beads

19. F BlenT &48d 104k B AP I e
HEEIOPYIRES o pinBT
b4 trE a2 B A4E 0 B
BIEE R SR B A BIR?

A 445§ 2 2Tk
B. 84+ § % 643k
C.17H % § % 6493k
D.84# & * 12 %3k

Area S 1
S %

Area W &
W %

Area Z><
7 %

) Area T
T %

& Arei X
X %

><Area Y
Y %

20. The above figure is the layout of the
Z0o0. Area T is to the southwest
of Area S. Which of the following is
to the west of Area X?

A. Area S
B. Area W
C.AreaY
D. AreaZ

|

20, P R F Bl Bl TH &SH
2

HE B S > T URB AXE E

oD

=

A.SF
B.W¥%
C.Y®
D.Z%

12



9cm

21. A new figure can be formed by using
the above 4 squares of the same size
together. What is the shortest
perimeter of the new figure?

A. 90cm
B. 81cm
C.72cm
D. 63cm

21 % 72 B AR Xl SR e e A

LA - BETPE; o ZTRAS D

¥ REELs 0

A. 90cm
B. 81cm
C.72cm
D. 63cm

h 4

22. The above figure is formed by an
1sosceles right-angled triangle and two
squares of the same size. What is the

area of the figure?

A. 2400cm?
B. 2000cm?
C. 1600cm?
D. 1200cm?

60cm

22. P Rld - BEED &= &0 B

<ol ARlR Rl 3 A e A o 3T 1R R

SR

A. 2400cm?
B. 2000cm?
C. 1600cm?
D. 1200cm?

13



X Y
30cm w i_ _________ i_ _________
! Z
< 66cm
23. In the above figure, W is a big 23. P RlY o WE- BX 335 Xie
square, X and Y are two small YERA B | fper] 3357
squares of the same size. What is the e fER_F 9
area of Z?
A. 432cm? A. 432cm?
B. 324cm? B. 324cm?
C. 986¢cm? C. 986¢cm?
D. 1208cm? D. 1208cm?
4cm 20cm
_I L
I L] A
) 24cm §
24. The above figure is formed by 4 24. F Bld 41 < o] oAk Ap e e A
trapeziums of the same size and o viha fFES Y
same shape, what is its area?
A. 64cm? A. 64cm?
B. 128cm? B. 128cm?
C. 256¢cm? C. 256¢cm?
D. 512cm? D. 512cm?

BATAH B 5 (] 5) 14



25. The above solid is formed by cubes

with side 3cm. What is the volume of

25. 1 b enz fgd 5 BiFE 3em engt

SRl o BB AR EY

the whole solid? S

A. 8cm’ A. 8cm?
B. 64cm’ B. 64cm’
C. 162cm’ C. 162cm’
D. 216cm’ D.216cm’

dem 4em

. -

20cm
o 20cm
30cm

26. What is the volume of the above
solid?
A. 4200cm’?
B. 4500cm?
C. 5400cm?
D. 6000cm’

26. F Bz WAL 00

A. 4200cm’
B. 4500cm?
C. 5400cm’
D. 6000cm?

15



Sales of Pizzas in a Pizzeria
A R B e 4

5 [ D Seafood Pizza
[ s A

=
s L .y Ham Pizza
5 = 3
3 [ %] Combination Pizza
g - [ s e
= o — edh 5 4
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<
S [
N —
-9 |
kS =
wn
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s |

0 |

August September October
PN 48 1y
Month
IS

27. According to the above graph, how 27. 15t Bl L0 B el i A
many more / fewer ham pizzas did the A= B VA - e
pizzeria sell in October than in

August?
A. 200 ham pizzas fewer A. 22007
B. 200 ham pizzas more B. %200
C. 400 ham pizzas fewer C. 4001
D. 400 ham pizzas more D. %4001

BATIEAH 5 () 5) 16



Number of Spectators Watching the Basketball Match Last Week
t Eﬁﬁﬁfg} EIf F e R4 g

1000 |
900

800

Number of Spectators

Sunday = Monday Tuesday Wednesday Thursday Friday  Saturday
8 p 5 - -2/ 8= ¥ B3 5 8~
Week

5 ¥y

28. Jim wanted to use the above graph to 28. E4E R P RIR A B

show the number of spectators E:F% g % oA B (e
watching the basketball match last A ila bk oA
week. However, he forgot to indicate Beodrkh PRI S X K5
the number of spectators on Saturday 1850 ~ » A & #p =~ erp ™ A #ic
in the graph. If the total number of 5049

spectators of the top two days was
1850, how many spectators were

there on Saturday?

A. 700 A. 700
B. 800 B. 800
C. 850 C. 850
D. 950 D. 950

B AT E 3 () 5) 17



29. The farmer put every 36 apples 29, B & = 36 Bag S 48 0 Bk
into a box. He filled up y boxes and 9 By TART ORHEE B2
apples were left. How many apples L3RS ORY

did the farmer have in total?

A. 36y A. 36y
B.36y—9 B.36y—9
C.36y+9 C.36y+9
D.y+324 D.y+324
30. John saved $m last month.Ann saved 30 AR F RN REE T Sme et B
$980 last month, which was $120 P 0 $980 0 vt PG AR

(5 58120 0 11T OR— iF < A

VA meniE ?

more than 5 times of the amount
saved by John. Which of the
following equations can find out the

value of m ?

m m _
A. 5 120 = 980 A. 5 120 =980
m
B. %+ 120 = 980 B. £ +120 =980
C.5m+120 = 980 C.5m-+120 =980
D. 5m—120 = 980 D.5m—120 =980

End of Section A

v 2R3

BATALUH 5 (] 5) 18



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section, unless specified
otherwise.

z

8 (40 &)

R P o G AU R AL
SRR Rl S

31. (a) Mr Chan decided to swim for 8km

a week. He swam for 2% km and

11% km in the first day and the

second day respectively. In the

remaining days, how long
did he need to swim at least?
[4 marks]

(b) Mr Chan swam for 265 minutes
last week. He consumed 8.8
kilocalories of energy for each
minute swimming. In last week,
how many kilocalories of energy
did Mr Chan consume by
swimming in total? [4 marks]

31 () B 2 i - B & # ik
8km - & f % - %ﬂ]fr'?ﬁ:%x,,\

e A2 9
B A5 25 km ’fr’lﬁ km o 2tp
TR 3 o BERUEMNS D ?

[4~]

(b) ik 4 1 i % #4265 4
&5 o i PEAE L 4a ) $£8.8F
+pE ot BEY > A
ERLAAT S S AR
+ 7

[4%]

19



32. (a) Carol had 3 packs of sticks.

(b) Carol wanted to use the sticks

There were 48 sticks in each

5
pack and 10 of them were not

15cm in length. How many sticks
with 15cm in length did she have?
(Give the answer only) [2 marks]

with 15cm to form a rhombus. On
the answer sheet, complete this

rhombus. [2 marks]

(b) =534 & % 15cm %% 45
A BEA o AN
b REBEY[2A]

33. (a) In last 6 months, Aaron spent 124

hours in total on cleaning the
beach. During the first 4 months,
he spent » hours on cleaning the
beach each month. On the last two
months, he spent 28 hours on
cleaning the beach each month.
How many hours did he spend on
cleaning the beach each of first 4
months? (Use equation to solve the
problem and show working steps)
[4 marks]

33. (a) B3 607 > FI* 1 124)
P FAdLe bE e B
BB PEFE S
Mo B i B2
VR DR PRGN # B
A R R & Se Y
25O ERE YR 2 A

PR X ETAHZ) [44]

L= 2
T -]

BATAH B 5 (] 5) 20



After the donor’s donation is deducted by $200, the organization will use

3 - : . :
1 of the remaining donation on the work of environmental protection.

i Jrif ek 2R 2 $200 1 o Wi e M%;Tmz?* IR R FL o

Environmental Donation Scheme
AT 5 B

33. (b) Aaron donated $960 to the 33. (b) BIFL & 3% Tk RS HE AR RE 0
environmental organization. He $960 o & 35 ¥y F A
believed that more than $550 30 p e endi A F 508550
from his donation would be used gFNFELIF R Lo ?
on the work of environmental N ER: A [4 % ]

protection according to the
above donation scheme. Do you

agree? Explain. [4 marks]

ErEI0) 21



Number of New Members of Fitness Center

LY 3T e B A i

50
@ ] Male
2 40 ] g1
é Y g Female
> < 30 | L
Z ]
m —4
L 20 -
o -
B ]
2 ]
= 10 7 I
= ]
0 -
March April May June Month
B g A 7 = 8 LERES

34. (a) In which month did fitness
center have the largest number
of new members? How many
new members were there in

total? (Give the answer only)
[2 marks]

(b) If the number of new members
in a month was 60 or above,
each employee would be
awarded a bonus. How many
bonuses were awarded to each
employee from March to June in
total? (Give the answer only)

[2 marks]

B 5 2L FAER 500
(FABNE %) [2 ]

(b) 4ok % B 7 it ¢ B 4 #iid 60

22



34. (c) The new members have to pay a
membership fee of $125 in the
first month. What was the total
membership fee did fitness
center get in April? [4 marks]

Figure 1
Bl -

35. (a) Linda makes the solid in Figure
1 using sticks and plastic
beads. What solid is it? How
many sticks and plastic beads
are used? (Give the answer

only)
[2 marks]

(b) As shown in Figure 2, a cross
section being parallel to the
base is cut from a triangular
pyramid. What is the shape of
this cross section? Is the shape
and size of this cross section
the same as that of the base?

[2 marks]

V

Figure 2
] =

Sz R o T B AEE A
T EIMRS 2 [24]

(b) Bl= #77F > = & 4aghr d -
BLEROER o T BE
B R AALK DU Ak e
SRR feRAR R 2 [24]

23



36. Alisa wants to buy puddings and
Cakes for a birthday party.

36. 473 f8 5 2

e dopt -

POREREE - 2 F g

12cm

20cm

25¢cm

(a) The above figure is the cake box
to be used by Alisa. What is the

@ FrBELEIE Y FE o
G R E RS ?

volume of this cake box? [44]
[4 marks]
Pudding Price Cake Price
*a LX B &
Each 0z
P $15 5 24 $90
Weight per cake
not over 6 0z $120
ZREd x4
7 AZ i
0z
7 4 a $145

(b) Alisa bought 12 puddings and 4
cakes with 6.5 oz each.
According to the above table,
how much should she pay?

[4 marks]

(b) HEPLF 7 122 F 4 frd
B & £6.5% L endoft o 1955

SR B ARES 2
[4~]

End of Test Paper
PSR
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